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Part A

Answer all questions.
Each question carries Va4 weightage.

1. Deflation means
(a) Risein price level. (b) Decrease in price level.
(c) Constant. (d) None.
2. Trade off between inflation and unemployment is called
(a) Laffer curve. (b)  Philips curve.
(¢) NAIRU. (d) None.
3. Relationship between tax rate and tax revenue depicted curve is called
(a) Laffer curve. (b) Substitution model.
(¢) Menu cost. (d) None.
4. General equilibrium was first developed by
(a) Walras. (b) Keynes.
(c) ‘Pigou. (d) None.
5. Assumptions of classical theory are
(a) Price flexibility. (b) Unemployment.
(c) Say’s law. (d) AllL
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In classical theory the equality between saving and investment is brought about by
(a) Rateofinterest. (b) Income.
(¢) Consumption. (d) Multiplier.
The normal condition of a capitalist economy in classical theory is
(a) Underemployment. (b) Full employment.
(¢) General unemployment. (d) Frictional unemployment.

The law which states that supply creates its own demand and overproduction is impossible is
known as

(a) The law of supply. (b) Say’s law of market.
(¢) Law of demand. (d) Law of macro economics.

Wages and prices do not adjust quickly to restore general equilibrium is a property of

(a) Classical economics. (b) Keynesian economics.

(¢) Monetary economics. (d) Supply side economics
GDP refers to ———

(a) Grossdomestic product. (b) Gross national product.

(¢) Grossdisposable income. (d) None.

Fluctuations in economic activities refers to

(a) Inflation. (b) Deflation.
(c) Businesscycle. (d) None.
MPC means ————.

(a) Marginal propensity to consume.

(b) Ratio of change in consumption to income.
(c) Both (a) and (b).

(d) None.

(12 x % = 3 weightage)
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Part B

Answer any five questions.

Each question carries 1 weightage.

Inflation targeting.

NAIRU.

Underemployment.

Phases of business cycle.

Rational expectation hypothesis.
Objectives of supply side economics.
General equilibrium.

Fixed exchange rate.

Part C

Answer any eight questions.

Each question carries 2 weightage.

Monetarist approach to inflation.
Unemployment and labour market.
Search theory.

Monetary theory of Hawtrey.
Political theory of business cycle.
Themes of monetarism.
Inter-temporal substitution model.
Techniques of fiscal policy.
Themes of supply side economics.
Dual decision hypothesis.

Financial instability theory.
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(6 x 1 = 5 weightage)

(8 x 2 = 16 weightage)
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Part D

Answer any three questions.

Each question carries 4 weightage.

Samuelson theory of business cycle.
Global recession.

New classical macro economics.
Walrasian general equilibrium.

Monetary policy under fixed exchange rate.

(3 x 4 = 12 weightage)
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Part A

Answer all questions.
Each question carries Y% weightage.

1. The ultimate resting place of the burden of a tax payment is called :
a) Impact. b) Incidence.
c) Shifting. d) None.
2. Pump Priming is related with :
a) Monetary policy. b) Income policy.
¢) Price policy. d) Fiscal policy.
3. The debts which the government promises to pay off at a specified date are called :
a) Irredeemable debts. b) Funded debts.
¢) Redeemable debts. d) Unfunded debts.
4. Gender budgeting started in India with the Union budget of :
a) 1991-92. b) 2001-02.
c) 2006-07. d) 2010-11.
5. Corporate tax is imposed by :
a) State Government.
b) Central Government.
c) Local Government.

d) Both Centre and State Government.
Turn over
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6. The Committee constituted for reforms in tax structure in India was :
a) Gadgil Committee. b) Chelliah Committee.
¢) Narasimhan Committee. d) Kelkar Committee.
7. Fiscal deficit does not involve :
a) Interest payments. b) Disinvestment proceedings.
¢) Market Borrowings. d) Sovereign borrowings.
8. Which one of the following is Adam Smith’s Canon of Taxation ?
a) Productivity. b) Certainty.
¢) Flexibility. d) Stability.
9. Revenue deficit in India is :
a) DPositive. b) Zero.
¢) Negative. d) Balanced.
10. GST covers the taxes like :
a) Sales tax. b) Service tax.
¢) Service and Excise. d) Service, excise and VAT.
11. The FRBM Act aims at reducing fiscal deficit by :
a) 2%. b) 1%.
c) 0.5%. d) 3%.

12. The difference between revenue deficit and grants for creation of capital assets is called :

a) Fiscal deficit. b) Budget deficit.
¢) Primary deficit. d) Effective revenue deficit.
(12 x %4 = 3 weightage)
Part B

Answer any five questions.
Each question carries 1 weightage.

13.  Distinguish between merit goods and merit wants.
14. Explain the rationale for government intervention in economic activity.

15. Define property rights.
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Explain performance budgeting.
Explain Gross Fiscal Deficit.
Define subsidy.
Give a note on fiscal federalism.
Explain plan and non- plan expenditure.
(56 x 1 = 5. weightage)
Part C

Answer any eight questions.
Each question carries 2 weightage.

Explain the revenue sources of local bodies in India.

State the major recommendations of Fourteenth Finance Commission in India.
Explain the intergeneration equity aspects of public debt.

Describe Wagner’s Law.

Discuss the relevance of Critical Limit Hypothesis:

Define optimal taxation.
Explain about government financing of human development in India.
Mention about externality and public good.
Discuss the partial equilibrium analysis of taxation.
What are the corrective measures for fiscal deficit in India.
Explain direct and indirect taxes in India.
(8 x 2 = 16 weightage)
Part D

Answer any three questions.
Each question carries 4 weightage.

State the features and major highlights of Kerala budget 2018-19.
Discuss the sources and management of public debt in India.
Evaluate the fiscal crisis in India.

Give a brief note on growth of public expenditure in India.

Explain the features of functional finance.
(3 x 4 = 12 weightage)
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Part A (Multiple Choice)

Answer all the twelve questions.
Each question carries a weightage of Y.

1. For a discrete random variable X with possible values 1, 2, 3, 4 and with distribution function

F(x), F (4.5)=
@ 1. (i) 0.
(i) - . (V) o,

2. Variance of X following binomial distribution with parameters 16 and p is 4. The value of p
is

i V2 (i) 1/4.
(iii) 1/8. (iv) 1/16.

3. Mean of X following Poisson distribution is 2. Then P (X =0) =
(1) e (i) 2¢7,
(i) ge72, (iv) o2,
4. If f(x)=2(1-x),0<x <1 is the p.d.f. of a random variable X, then P (X >2)is

(i) o. (i) 1/4.
(iii) 1/2. (iv) 1.

Turn over
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If X follows normal distribution with mean 5 and variance 2, P (X >5)=

(i) 0. (i) 1/4.
@i 172 (iv) 1.
If X follows N (0, 1) distribution then square of X follows —————— distribution.
(i) Chi-square. (i1)) Normal.
(i) ¢ (iv) F.

Ratio of two random samples are taken from standard normal distribution follows
distribution.

(i) Normal. (ii) Chi-square.
(iil) ¢ (iv) F.
The sampling distribution of the statistic used in ANOVA is

(i) Normal. (ii) Chi-square.
(iil) ¢ (iv) F.
In testing of hypothesis P (Type II error) is —————— of the test.
(i) Size. (ii) Power.
(iii) 1-Power. (iv) None of these.
Fisher Neyman factorization theorem identifies ————— estimator for a parameter.
(i) Consistent. (ii) Efficient.
(iii) Sufficient. (iv) Unbiased.

Significance level of a test is
(i) P (TypeIerror). (ii) P (Type II error).
(1) 1-P(TypeIerror) @iv) 1-P (Type II error).
Statistic following ————— distribution is used in testing the variance of a normal population.
(i) Normal. (1) Chi-square.
(iii) ¢ (iv) F.

(12 x % = 3 weightage)
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Part B (Very Short Answers)

Answer any five questions.
Each question carries 1 weightage.

Write any two properties of distribution function.
For a binomial distribution B (8, 0.3), obtain mean of E (X — 2).
If X follow Poisson distribution with variance 3, find P (X < 1).
Write the values of E (X) and V (X) of X following standard normal distribution.
Define an unbiased estimator.
State Neyman Pearson Lemma.
Define significance level of a test.
Define critical region.
(5 x 1 =5 weightage)
Part C (Short Answers)

Answer any eight questions.
Each question carries 2 weightage.

A player who is tossing three coins gets Rs.8 for three heads, Rs. 4 for two heads and Rs. 2 for one
head and loses Rs. 20 if three tails appear. Find his expected gain.

An industry generating disease has a probability 0.15 to appear among workers. Out of 6 workers
what is the probability that the number of workers suffering from disease is (i) None ; (ii) At least
2 ; and (iii) All

In a book of 600 pages, 150 typographical errors occur. Assuming Poisson law for the number of

errors per page, find the probability that a page taken at random will contain no error.

If X follows Normal distribution with mean 0 and SD 4, find (i) P(X2 <16) : and
(i) P(X+2>6).

Define Statistic. What is the sampling distribution of the mean of a sample of size 16 taken from a
normal population with mean 10 and SD 3.

If t follow t-distribution with 9 degrees of freedom, obtain a and b such that (i) P (¢ >a)=0.05;

and (ii) P (¢ <b)=0.025.
Turn over
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Define (i) Consistent ; and (ii) Sufficient estimator.
Explain Type I and Type II errors in testing of hypothesis. Which is more serious, explain.

From a sample of 900 items gives an average weight 3.41 gms. Test whether the sample can be
regarded as taken from a population with mean 3.21 and standard deviation 2.63 at 5 % level of
significance ?

Explain paired ¢-test.
Write a short note on Chi-square test of goodness of fit.
(8 x 2 =16 weightage)
Part D (Essays)

Answer any three questions.
Each question carries 4 weightage.

If the random variable X takes the values 0, 1, 2, 3 and 4 such that,
8P (X=0)=2 P(X=1)-P(X=2)=P(X=3)=3P (X=4),

(i) Find the probability distribution of X ;
(31) EX);and
(iii) V(X).
In a normally distributed population 7 % of items have their values less than 35 and 87% have
their values less than 63. Find the mean and standard deviation of this normal distribution.

Explain (i) Point Estimation ; and (ii) Interval Estimation. Identify a 90 % confidence interval for
the mean of a normal population using the sample of size 16 taken from the population when the
population standard deviation is known as 8. Sample mean and sample standard deviations are
calculated as 32 and 6.

In a sample of 600 students of a college 400 are found to utilize internet facility from library. In

another college of 900 students 450 were found to use the facility. Test whether the two colleges
are significantly different with respect to the habit of using internet facility from library.

Explain Chi-square test of independence. 100 randomly selected students involving 60 boys and
40 girls from a school is classified according to their performance in Economics :

Gender
Boys Girls
Below average 18 10
Average 32 18
Above average 10 12

Use a 0.05 level of significance and test the hypothesis that gender and performance in Economics
are independent.

(3 x 4 = 12 weightage)
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General Instructions

1. In cases where choices are provided, students can attend all questions in each section.
2. The minimum number of questions to be attended from the Section/Part shall remain the same.

3. There will be an overall ceiling for each Section / Part that is equivalent to the maximum weightage
of the Section/ Part.
Part A (Multiple Choice Questions)

Answer all questions.
Each question carries Y4 weightage.

1) IRR is defined as the discount rate at which NPV =

(a) 1. (b) 2.
(c) 3. (d) o.
2) Hicks test is the reverse of ———— test.
(a) Pareto. (b) Pigou.
(¢) Kaldor. (d) Scitovsky.
3) Freeriding is considered a failure of the conventional ————— market system.
(a) Perfect. (b) Free.
(¢) Imperfect. (d) Barter.

4) Among the following ————— is not related to Lindahl equilibrium.

(a). Every consumer demands the same amount of the public good and thus agrees on the
amount that should be produced.

(b) Consumers each pay a price according to the marginal benefit they receive.
(c) The total revenue from the tax covers the full cost of providing the public good.

(d) Consumers do not pay a price according to the marginal benefit they receive.

Turn over
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Externalities are —————— when the social costs outweigh the private costs.
(a) Positive. (b) Negative.
(c) Both (a) and (b). (d) None of the above.
Unsystematic risk mitigated through diversification is
(a) Diversifiable risk. (b) Conventional risk.
(¢) Scientific risk. (d) Specificrisk.
Behavioural economics is often related with
(a) Positive economics. (b) Welfare economics.
(¢) Normative economics. (d) Poor economics.
A public good is subject to ————— problem as some people will take advantage of using it while
refusing to help to pay for it.
(a) Rivalry. (b) Excludability.
(c) Externality. (d) Free-rider.
Evenly Rotating Economy (ERE) is an alternative to
(a) Partial equilibrium. (b) Long-run general equilibrium.
(¢) Equilibrium. (d) Paretoequilibrium.

William Meckling is associated to

(a) Asymmetricinformation. (b) Theory of Second Best.
(¢) Impossibility theorem. (d) Principal-agent problem.
is a part of social choice theory.

(a) Pigou’stheorem. (b) Pareto’s theorem.

(¢) Walra’s theorem. (d) Arrow's impossibility theorem.
Real interest rate takes ————— into account.

(a) Money rate. (b) Bank rate.

(¢) Inflation. (d) Exchange reserve.

(12 x ¥% = 3 weightage)
Part B (Short Answer Type Questions)

Answer any five questions.
Each question carries 1 weightage.

Define future goods.
Explain Lindahl pricing.

Write a note on Coase theorem.
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Define Welfare Economics.
Explain supply of future goods.
What is CPR ?
Explain efficiency wage theory.
Explain Rules of thumb.
(5 x 1 =5 weightage)
Part C (Paragraph type Questions)

Answer any seven questions.
Each question carries 2 weightage.

Explain rules of thumb and biases in decision making.
What are the implications of asymmetric information ?
Explain capital assets pricing model.
How pricing of risky assets is done ?
Explain Arrow’s impossibility theorem.
Compare diversifiable and non diversifiable risks.
Explain Firms demand for capital.
Explain IRR Criterion.
Briefly explain the theory of Second Best.
Explain hidden information and hidden action.
(7 x 2 = 14 weightage)
Part D (Essay type Questions)

Answer any two questions.
Each question carries 4 weightage.

What is Public good ? Explain Public goods and market failure.

What is externality ? Briefly explain positive and negative externalities in production and
consumption.

Explain the criteria of social welfare. Briefly illustrate Kaldor-Hicks compensation criterion.
What is NPV ? Explain NPV criterion for capital investment decision.
(2 x 4 = 8 weightage)
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General Instructions

1. In cases where choices are provided, students can attend all questions in each section.
2. The minimum number of questions to be attended from the Section/Part shall remain the same.

3. There will be an overall ceiling for each Section / Part that is equivalent to the maximum weightage
of the Section / Part.

Part A (Multiple Choice Questions)

Answer all questions.
Each question carries Y weightage.

1. Which of the following statement is correct ?
a) A variable is endogenous when its value is determined by forces outside the model.
b) A change in an exogenous variable is classified as an autonomous change.
¢) A variable is exogenous when its value is determined by forces within the model.
d) A variable is autonomous when its value is determined by forces within the model.
2. If, money has no real effect, it is referred to as :
a) Neutrality of money. b) Real effect.
¢) Consumption effect. d) Income effect.
3. Which of the following is not an essential characteristic of business cycle ?
a) Recurrent nature. b) Cumulative in effect.
c¢) Regular. d) All pervading in their impact.
4. Bottle-neck inflation is a situation that sets in
a) After the point of full employment. b) Before the point of full employment.

¢) After imposing price controls. d) During war period.

Turn over
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If the government's anti inflationary policy is not viewed as credible, it results in :

a) Self-fulfilling inflation. b) Deflation.
¢) Disinflation. d) Stable prices.
Which of the following groups will not be hurt by inflation ?
a) Individuals on fixed incomes. b) Borrowers at fixed interest rates.
c) Retail store owners. d) Lenders at fixed interest rates.

Which of the following will be the outcome of stagflation ?
a) Unemployment goes down. b) The price level goes down.
¢) Phillips curve shifts rightward. d) Real GDP increases.
In which year did William Nordhaus received Nobel prize in economics::
a) 2019. b) 2017.
c) 2016. d) 2018.

. Apolitical signal in demand management, output and inflation movements originating with shifts

in party control of the government was mainly advocated by :
a) New classical. b) Nordhaus model.
¢) Partisan theory. d) - None of the above.

The behavior that the motivation of government to win the elections in order to realize their
policies is known as :

a) Preference behaviour. b) Naive behaviour.
¢) Opportunistic behaviour. d) Partisan behaviour.
If supply of money falls short of demand for money, the country will have :
a) BOPsurplus. b) BOP deficit.
¢) BOP equilibrium. d) BOP neither surplus nor deficit.

Business cycle fluctuationsto a large extent can be accounted for by real shocks are mainly
advocated by :

a) Classical school. b) Keynesian school.
¢) New Classical school. d) New Keynesian school.
(12 x ¥4 = 3 weightage)
Part B (Short Answer Type Questions)

Answer any five questions.
Each question carries 1 weightage.

What is meant by classical dichotomy ?

Distinguish between monetarism and fiscalism.
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What is Lucas’ surprise supply function ?

State Adaptive Expectation Hypothesis.

What is meant by natural rate of unemployment hypothesis ?
Bring out the propositions of implicit wage contract model.
State the rationale of political business cycles.

Distinguish between devaluation and depreciation.

Part C (Paragraph Type Questions)

Answer any seven questions.
Each question carries 2 weightage.

What is Nordhaus opportunistic model ?

Explain the ‘new micro economics’ of the labour market.
Describe rational expectation hypothesis.

How to pay for war ? Substantiate your arguments.
Describe the monetarist approach to inflation:

Examine the problems of BOP Disequilibrium.

Describe Expectation Augmented Phillips Curve.
Explain the policy implications of supply side economics.
Critically Explain the Kaldor’s theory of business cycle.

What are the consequences of devaluation ?

Part D (Essay Type Questions)

Answer any two questions.
Each question carries 4 weightage.

C 4600

(5 x 1 =5 weightage)

(7 x 2 = 14 weightage)

Explain the major postulations and policy implications of New Political macro economics.

Critically examine the policy implications of the Classical Equilibrium model.

What are the Keynesian critiques on classicism ? Explain Keynesian analysis of the labour market.

Describe the contributions of new classical macro economics.

(2 x 4 = 8 weightage)
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General Instructions
1. In cases where choices are provided, students can attend all questions in each section.
2. The minimum number of questions to be attended from the Section/Part shall remain the same.

3. There will be an overall ceiling for each Section / Part that is equivalent to the maximum weightage
of the Section/Part.

Part A (Multiple Choice Questions)

Answer all questions.
Each question carries Y4 weightage.

1. Chairman of 15" Finance Commission is :

a) Y.V. Reddy. b) Nand Kishore Singh.
¢) Vijay K Kelkar. d) C.Rangarajan.

2. Which of the following is not a characteristic of public good ?

a) Non-excludable. b) Non-rivalry.
c) Divisibility. d) Indivisibility.

3. Who is the constitutional authority to decide the tax share of states ?
a) Finance Minister. b) Finance Commission.
¢) Planning Commission. d) Union Cabinet.

4. Reason for market failure is :

a) Asymmetric information. b) Decreasing cost.

¢) Provision of public good. d) All of these. Turn over
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Which of the following tax is levied by the State Government only ?
a) Income tax. b) Corporate tax.
¢) Entertainment tax. d) Tax on buildings.
Among the following canons of taxation, which one is not suggested by Adam Smith :
a) Elasticity. b) Certainty.
¢) Convenience. d) Equity.
Which schedule of Indian constitution divides the legislative powers between Union and States ?
a) 6th. b) 7th.
c) 8th. d) 9th.
Fiscal Responsibility and Budget Management Act was passed in the year :
a) 1993. b) 2005.
c) 2000. d) 2003.

When the demand for a commodity is perfectly elastic and its supply is inelastic, the entire burden

of tax will be on ?
a) Buyers. b) Sellers.
c) Both. d) None of these.

Which of the following principle is called Least Aggregate Sacrifice Principle of incidence ?
a) Equal Absolute Sacrifice. b) Equal Proportional Sacrifice.
¢) Equal Marginal Sacrifice. d) All of these.

Ability to Pay principle is related with :

a) Progressive tax. b) Regressive tax.
¢) Proportional tax. d) Digressive tax.

Generally, indirect taxes are :

a)  Progressive. b) Regressive.
¢) Proportional. d) Constant.

(12 x % = 3 weightage)



18.
14.
15.
16.
17.
18.
19.

20.

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

3

Part B (Short Answer Type)

Answer any five out of eight questions.
Each question carries 1 weightage.

Define Tax. What are the characteristics of a tax ?

Examine the role of finance commission in a country.

What is a public good ? How it is different from private good ?
Explain balanced budget multiplier.

Distinguish between development and non-development expenditure.
Explain Musgrave’s concept of incidence.

Write a note on vertical fiscal imbalance.

What is GST ? Explain.

Part C (Paragraph Type)

Answer any seven out of ten questions.
Each question carries 2 weightage.

What are Externalities ? Explain positive and negative externalities.
What are the objectives of FRBM Act ? Explain.

Describe the principles of public debt management.

Explain Median Voter Theorem.

Explain the Voluntary Exchange theory of Lindahl.

Define public revenue. What are the sources of public revenue ?

What are the objectives of public expenditure in a developing country ?
Discuss the factors influencing the incidence of a tax.

Briefly explain theory of public choice.

What are the methods of fiscal transfers in India ? Explain.

C 4601

(6 x 1 = 5 weightage)

(7 x 2 = 14 weightage)
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Part B (Short Answer Type)

Answer any five out of eight questions.
Each question carries 1 weightage.

Define Tax. What are the characteristics of a tax ?

Examine the role of finance commission in a country.

What is a public good ? How it is different from private good ?
Explain balanced budget multiplier.

Distinguish between development and non-development expenditure.
Explain Musgrave’s concept of incidence.

Write a note on vertical fiscal imbalance.

What is GST ? Explain.
Part C (Paragraph Type)
Answer any seven out of ten questions.
Each question carries 2 weightage.
What are Externalities ? Explain positive and negative externalities.

What are the objectives of FRBM Act ? Explain.

Describe the principles of public debt management.

Explain Median Voter Theorem.

Explain the Voluntary Exchange theory of Lindahl.

Define public revenue. What are the sources of public revenue ?

What are the objectives of public expenditure in a developing country ?
Discuss the factors influencing the incidence of a tax.

Briefly explain theory of public choice.

What are the methods of fiscal transfers in India ? Explain.

C 4601

(5 x 1 = 5 weightage)

(7 x 2 = 14 weightage)
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Part D (Essay Type)

Answer any two out of four questions.
Each question carries 4 weightage.

Define Zero Based Budgeting. What are the main processes involved in Zero Based Budgeting ?

Explain its merits and demerits.

Examine the problems of central state financial relations in India. Discuss the impact of new
economic reforms on centre state financial relations.

Explain the role of public debt in the economic development of India. Discuss the trends in the
growth of public debt India.

Critically explain the pure theories of public expenditure.

(2 x 4 = 8 weightage)
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Part A

Answer all questions.
Each question carries 1 mark.

Multiple Choice Questions :

1. Feasible region is the feature of
a) LPP. b) Input-output analysis.
¢) Asymmetric information. d)  None.

2. In alinear programming, the unutilized units of a factor of production is described by
a) Slack and surplus variable. b) Constraints.
¢) Objective function. d) None.

3. Edgeworth box represents a particular allocation of labour and capital between
a) Firms. b) Commodities.
¢) Individuals. d) None.

4. A sum total of the satisfaction of all the individuals in a society refers to

a) Point of bliss. b) Second best.
¢) Maximizing welfare. d) None.

5. In general equilibrium model Walras used ———— equations.
a) Simultaneous. b) Quadratic.
¢) Behavioural. d) None.

Turn over
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Eulers theorem is also called
a) Product exhaustion theorem. b) Adding up problem.
¢) Both (a) and (b). d) None.

Ricardian theory of distribution is based on
a) Marginal principle. b) Surplusprinciple.
c) Both (a) and (b). d) None.
“Social choice and individual value” was formulated by
a) Arrow. b) Kaldor.
¢) Hicks. d) None.
Kaldor criterion and Hicks criterion were
a) Different. b) Same.
¢) Compensative. d) Both (a) and (c).
Market with asymmetric information is related to
a) Akerlof. b) Hicks.
c) Kaldor. d) None.

Part B (Very Short Answer Questions)

Answer any five questions.
Each question carries 2 marks.
Answer in one or two sentences each.

Technical coefficient.

North west comer rule in transportation problem.
Adding up problem.

Tattonment.

Differentiate slack and surplus variable.

Production possibility frontier.
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(10 x 1 = 10 marks)
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Moral hazard.

Write down the dual of the following problem :

Maximize Z = X; + 6X,

X; +3X,22
X, +3X,<3
X,,X220.

subject to

Bbx2=

Part C (Short Answer Questions)

Answer any eight questions.
Each question carries 5 marks.

Explain assumptions of input-output analysis.

Explain marginal productivity theory.

Critically evaluate Ricardian model of distribution.

Explain Kaldor-Hicks compensation criteria.

Explain general equilibrium of exchange, equity and efficiency.
Discuss marginal conditions of Pareto-optimality.

Explain Rawl’s theory of justice.

Explain Arrows impossibility theorem.

Explain Sen’s theory of welfare.

Critically evaluate Williamson model of transaction cost.

C 3848

10 marks)

A company has two plants at P and Q which supply to warehouses located at D, E and F. The unit

transportation costs are given below. Solve the problem using Vogel’s Approximation method :

Warehouse D E F Available
Plant
P 30 20 10 800
Q 5 15 25 500
Required 300 300 400

Turn over
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30. Solve the following linear programming problem by using graphical method :

31.

32.

33.
34.

Maximize Z =12X + 4Y
subject to 2X +3Y <48
X +3Y <42
X+Y<21 X, Y>0.

(8 x 5 = 40 marks)
Part D (Essay Type Questions)

Answer any two questions.
Each question carries 10 marks.

Discuss the application of linear programming problem and transportation problem in micro-
economics.

Explain Kaldor model of distribution.

Explain market with asymmetric information.

Solve the following problem by using simplex method :

Maximize Z =10X; + X, + 2X;

subject to X, +X,-2X3<10
4X, +Xq + X3<20
X, Xg, X3 20.

(2 x 10 = 20 marks)
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Economics
ECO 2C OB—QUANTITATIVE METHODS FOR ECONOMIC ANALYSIS—II
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Time : Three Hours Maximum : 30 Weightage

General Instructions
. In cases where choices are provided, students can attend all questions in each section.
The minimum number of questions to be attended from the Section/Part shall remain the same.

. There will be an overall ceiling for each Section / Part that is equivalent to the maximum weightage
of the Section/Part.

Part A (Multiple Choice Questions)

Answer all questions.
Each question carries % weightage.

. How many four digit, numbers can be formed with the digits 3, 4, 5,6, 7,8 ?
fa) 120. (b) 240.

(c) 360. (d) 480.

. For a binomial distribution, mean is —————— variance.

(a) Less than. (b) Equal to.

(c) Greater than. (d) None of these.

If X is a random variable with mean p, then E (X)’ is called :

NFth row moment. (b) rth central moment.
(c) Variance. (d) Standard deviation.
If the two events A and B are mutually exclusive, then :
(a P(AnB)=P(A)-P(B). (b) P(AnB)=P(A)-P(B|A).

(¢) P(AnB)=0. (d) None of these.
Turn over
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For a standard normal distribution, median is always :

(a) Equal to zero. (b) Not equal to zero.
(c) Equal to three. (d) Not equal to three.
The variance of the difference of two independent random variables is equal to the ————— of

their individual variances :

(a) Sum. (b) Difference.

(¢) Product. (d) Ratio.
The square root of the variance of an estimator is called :

(a) Significance level. (b) Statistic.

(c) Parameter. (d) Standard error.
Ratio of two Chi-square variates will follow :

(a) %2 distribution. (b) tdistribution.

(¢) Fdistribution. (d) Normal distribution.
The distribution used for testing the equality of two population p;oportions is:

(a) Normal distribution. . (b) - t distribution.

(c) Fdistribution.’ (d) yZdistribution.

If the statistic ¢ gives all the information regarding the parameter g contained in the sample, then

tis a———— estimator.
(a) Sufficient. (b) Consistent.
(c) Efficient. (d) Likelihood.
Whether a test is one-tailed or two-tailed depends on hypothesis.
(a) Null (b) Alternative.
(c) Simple. (d) Cqmposite.

The expectation of the mean of a random sample of size n from a population with mean pis:

@ . b) np.

(c) p2 @ .
(12 x % = 3 weightage)
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Part B (Short Answer Type)

Answer any five out of eight questions.
Each question carries 1 weightage.

Compute the values of the following :
(@) §Py; (b) 19Cq; (0) 4Cy; and (d) 7Ps-
Obtain the probability of getting a sum of 9 when two dice are thrown simultaneously.

In how many ways can 4 white and 3 black balls be selected from a box containing 20 white and
15 black balls ?

Briefly explain the probability function and parameters of a normal distribution.
Discuss the two types of errors associated with hypothesis testing.
Distinguish between point estimate and interval estimate.
Discuss the major applications of ¢-test.
Define a random variable. Also define expectation and variance of a random variable.
| (5 x 1 = 5 weightage)
Part C (Paragraph Type)

Answer any seven out of ten questions.
Each question carries 2 weightage.

Explain the frequency definition and axiomatic definition of probability.

Two persons A and D attempt independently to solve a puzzle. The probability that A will solve is

1
-Zi and the probability that B will solve is 3 Find the probability that the puzzle will be solved by

(i) At least one of them ; and (ii) Both of them.
Explain the important properties of normal distribution.

A random sample of 50 Mathematics grades showed a mean of 75 and a standard deviation of 10.
What are the 95 % confidence limits for the population mean ?

Three letters are selected from the letters of the word ‘ASSASSINATIONS’. What is the probability
that (i) all are ‘S’ ; (ii) Two are ‘A’ and one is ‘N’ ; (iii) Exactly oneis T ;and (iv) At least one is ‘A’.

Turn over
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The weekly wages of 1,000 workers are normally distributed around a mean of Rs.70 and with a
standard deviation of Rs. 5. Estimate the number of workers whose weekly wages will be
(i) between Rs.70 and Rs.72 ; (ii) between Rs.69 and Rs.72 ; (iii) more than Rs.75 ; and (iv) less
than Rs. 63.

Explain the procedure for testing equality of two population means.

A soap manufacturing company was distributing a particular brand of soap through a number of
retail shops. Before a heavy advertisement campaign, the mean sales per week per shop was 140
dozens. After the campaign, a sample of 20 shops was taken and mean sales was found to be 147
dozens with a standard deviation of 16. Can you consider the advertisement campaign effective ?
What do you mean by significance level, power and critical region of a test ?
Explain the desirable properties of an estimator.

(7 x 2 = 14 weightage)

Part D (Essay Type)

Answer any two out of four questions.
Each question carries 4 weightage.

A random variable X follows a probability distribution as given below :

X 0 1 2 3
(x) ﬁ ﬁ k+1 2k -1
p 2 3 3 6

Find the value of k. Also find the mean and variance of the variable.
A systematic sample of 100 pages was taken from the Oxford Dictionary and the observed frequency
distribution of foreign words per page was found to he as follows :

No. of foreign words per page (X) : 0 1 2 3 4

Frequency : 42 34 12 7 4 1
Calculate the expected frequencies using Poisson distribution.

The heights of six randomly chosen sailors are in inches : 63, 65, 68, 69, 71 and 72. Those of 10
randomly chosen soldiers are 61, 62, 65, 66, 69, 69, 70, 71, 72 and 73. Test whether the data
support the claim that the sailors are on the average taller than soldiers.

A set of data involving four tropical feed stuffs A, B, C, D tried on 20 chicks is given below. All the
20 chicks were treated alike in all respects except the feeding treatments and each feeding treatment
is given to 5 chicks. Analyze the data :

A 55 49 42 21 52
B 61 112 30 89 63
C 42 97 81 95 92
D 169 137 169 85 154

(2 x 4 = 8 weightage)
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Time : Three Hours Maximum : 80 Marks
Part A

Answer all questions.
Each question carries 1 mark.

Multiple Choice Questions :

1. During the period of prosperity, credit creation is :
a) Small. b) Heavy.
¢) Unchanged. d)  None of these.

2. Deflationis:
a) A situation of falling prices. b) A situation of rising prices.
¢) Asituation of constant prices. d) None of these.

3. Which of the following can be adopted as a method of credit control ?
a) Bank rate policy. b) Variable reserve syste.

¢) Selective credit control. d) All of these.

4. Menu cost is related to

a) New Keynesian economics. b Classical.
¢) New classical. d None.
5. High rate of inflation and unemployment is called
-

a) Inflation. ¢ don.

¢) Stagflation. »
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The consumption over time is known as
a) Inter temporal choice. b) Dual decision.

¢) Adaptive expectation. d) None.

Inflation means

a) Risein pricelevel. b) Decrease in price level.
c) Constant. d) None.

Robert Lucas is associated with school of economics.
a) Newclassical. b) Classical.
c¢) Keynesians. d) None.

Fluctuations in economic activities refers to

a) Inflation. b) Deflation.
¢) Businesscycle. d) None.
Stagflation refers to

a) Deflation and rising unemployment.
b) Inflation and rising unemployment.
¢) Inflation and rising employment.
d) Stagnant employment and deflation.
(10 x 1 = 10 marks)
Part B (Very Short Questions)

Answer any five questions in one or two sentences each.
Each question carries 2 marks.

Laffer curve.

Rational expectation hypothesis.
Dual decision hypothesis.

Types of unemployment,

Short run Philips curve.
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Underemployment.
Misery index.
Cost of unemployment
Part C (Short Answer Questions)
Answer any eight questions.
Each question carries 5 marks.
Explain Monetary theory of business cycle.
Explain NAIRU.
Explain Themes of supply side economics.

Explain Features of new Keynesian economics.
Explain Monetarism.

Explain monetarist views on great depression.
Explain small menu cost model.

Explain wage contract theory.

Explain expected augmented Philips curve.
Explain Causes of unemployment.

Explain Cost of inflation.

What do you meant by inflation targeting ?

Part D (Essay Type Questions)

Answer any two questions.
Each question carries 10 marks.

Explain New classical macro economics.
Explain Real business cycle theory.
Discuss the instruments of fiscal policy.

Discuss the basic postulates of classical and Keynesian system.

C 3849

(5 x 2 = 10 marks)

(8 x 5 = 40 marks)

(2 x 10 = 20 marks)
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Part A (Multiple Choice questions)

Answer all questions.
Each question carries 1 mark.

1. If A and B are two events, the probability of occurrence of either A or B is given :
a) P(AUB). b) P(A)+P(B).

¢ P(ANB). d) P(A)P(B).

2. How many different ways the letters of word “LEADER” can be arranged ?
a) 240. b)  320.
c) 360. d) 380.

3. What is the probability of getting more than 2 when a die is tossed :

1
a) 3 b) 5
c) % d 1.

4. Anormal Distribution Curve :
a) IsSymmetrical.
b) Has a single peak.
¢) Has the same value of mean, median and mode.
d) All the above.
5. Mean of Binomial Distribution is :
a) np. b) n/p.
¢) square root of np. d) npg.
Turn over
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Chi square distribution curve is :

a) Symmetrical. b) Positively skewed.

c) Negatively skewed. d) None of the above.
Bias of an estimator can be :

a) Positive. b) Negative.

c) Either Positive or Negative. d) Always zero.
Least square theory was. proposed by :

a) R.AFisher b) Karl Pearson

¢) C.F Gauss d) J. Neymann

Analysis of variance (ANOVA) is test for :
a) Difference in sample variance
b) Difference is sample means
c) Difference in sample standard deviation
d) Difference in sample skewness
Which of the following is the most appropriate non-parametric test ?
a) Ttest. b) F'test.
c) Ztest. d) Utest.

C 3850

(10 x 1 = 10 marks)

Part B (Very Short Answer Questions)

Answer any five questions.
Each question carries 2 marks.
Answer in one or two sentences each.

What is conditional probability ?

State Baye’s Theorem.

Distinguish between unit set and universal set.
Identify a log normal distribution.

When Chi-square test is used ?

What is Ordinary Least Square Method ?

Define Type-1 and Type-2 errors in hypothesis testing.
When Krushall Wallis test is used ?

(5 x 2 = 10 marks)
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Part C (Short Answer Questions)

Answer any eight questions.
Each question carries 5 marks.

Explain critical region and Type I & II errors in hypothesis testing.
What is exponential probability distribution ?

The sales manager of a watch company wants to study whether the sales of company’s different
brands of watches is independent of the states in which it is sold. The researcher has taken a
random sample of 823 consumers who have purchased watches across four states. The observations
of the researcher with respect to the sales of each brand across states is given below.

States Brand 1 Brand 2 Brand 3 Total
TAMIL NADU 75 85 82 242
KERALA 70 50 74 194
KARNATAKA 55 62 60 177
ANDRA PRADESH 65 75 70 210
Total 265 272 286 823

Determine whether the brand preference is independent of the states ? (Use Chi square test at 5%
level of significance)

The table below shows the marks of a sample of 8 students from Batch A and 9 students from
Batch B. Use the Mann-Whitney U Test to determine whether the marks differ between Batch A
and Batch B.

Marks (out of 100) 75 71 72 79 73 76 73 70
Marks (Out of 100) 82 84 77 75 74 68 80 69 74

A Laptop manufacturing company employed 300 employees of whom 80 are mechanical engineers
and 220 are diploma holders in management. Thirty percent of the management diploma holders
are mechanical engineers. Suppose an employee is selected at random. What is the probability
that the selected employee is a management diploma holder and a mechanical engineer ?

Explain the Law of Large Numbers and Central Limit Theorem.

A company has conducted a written test to recruit people as managers. Assume that the test marks
are normally distributed with mean as 60 and standard deviation as 25. Find the following :

(i) Probability of randomly obtaining score greater than 40 in the test.

(ii) Probability of randomly obtaining a score that is between 35 to 85. Turn over
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What is conditional probability ? Explain Bayes’s Theorem.
Explain the characteristics of F distribution.

Explain mean and variance of normal probability distribution.
What is a Wilcoxon Signed rank test ? What are its uses ?

A new electrical company claims that the average life of its bulbs is 4000 hours. A retailer has
taken a sample of 10 bulbs to test this claim and found that the mean life of bulbs is 39,00 hours
with a sample standard deviation of 270 hours. Conduct t test at 5% level of significance and find
whether the claim by the company is acceptable.

(8 x 5 = 40 marks)
Part D

Answer any two questions.
Each question carries 10 marks.

The following data pertaining to the number of units of a product manufactured by four different
brands of machine :

Machine Types
A B C D
46 40 49 38
48 42 54 45
36 38 46 34
35 40 48 35
40 44 51 41

Test whether the mean productivity is same for the four brands of machine. Use ANOVA and test
at 5% significance level.

Using method of least square to fit a regression line of the form P =a + bW to the following data :
Weight (kg) 50 70 100 120 140
Price (Rs.) 12 15 21 25 30

Estimate P (Price) when W (weight) is 150.

Explain the procedure for testing a hypothesis with suitable example.

Discuss the features of Binomial and Poisson distributions and bring out its relative merits and
merits.

(2 x 10 = 20 marks)
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Part A (Multiple Choice Questions)

Answer all questions.
Each question carries 1 mark.

1. Spot exchange rate refers to :

a) After 3 months. b) On the spot.
¢) Groups. d) None of these.
2. If autonomous payments are greater than autonomous receipts, the BOP is said to be :
a) Surplus. b)  Deficit.
c) Balance. d)  Favourable.

3. The classical theory does not consider differences in :
a) Transportation costs. b) Customer wants.
¢) Technology. d) Prices.

4. Paul Krugman is credited with :

a) Law of factor price equalisation. = b) Product life cycle theory.

¢) New trade theory. d) Factor proportions theory.
5. Opportunity cost is also known as
a) Next Best alternative. b) Transformation cost.
¢) Both a) and b). d) None of above.
6. Trade between two countries is known as’
a) External. b) Internal.
c) Inter-regional. d) None of Above.
7. A tariff
a) Increase the volume of trade. b) Reduces the volume of trade.

¢) Has no effect on volume of trade. d) Both a) and ¢).
Turn over
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8. Who among the following enunciated the concept of single factoral terms of trade
a) Jacob Viner. b) G.S. Donens.
¢) Taussig. d) J.S.Mill
9. ‘Infant industry argument’ in international trade is given in support of :
a) Granting Protection.
b) Freetrade.
c) Encouragement to export oriented small and tiny industries.
d) None of the above.

10. Trade between two countries can be useful if cost ratios of goods are

a) Equal. b) Different.
¢) Undetermined. d) Decreasing.
(10 x 1 = 10 marks)
Part B

Answer any five questions.
Each question carries 2 marks.
Answer in one or two sentences each.

Write short notes on :
11. Bilateral and multilateral trade.
12. Factor endowment.
13. Non-tariffbarriers.
14. Balance of payment.
15. SAARC.
16. Trade Diversion.
17. Regional Trade Blocs.
18. Dutch Disease.
19. Euro Currency Market.
(5 x 2 = 10 marks)
Part C (Short Answer Questions)

Answer any eight questions.
Each question carries 5 marks (19-30).

20. Briefly discuss factors affecting terms of trade.

21. Discuss the advantages of free trade policy.
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Critically examine the Stopler-Samuelson theorem on international trade.
Examine the impact of Euro on the world economy.
Define terms of trade. Explain different forms of terms of trade.
Give a brief account of the refinement of the classical theory.
What do you understand by capital account convertibility ?

What is meant by effective rate of protection ? State the partial equilibrium analysis of trade
barriers for small countries.

What are the results of empirical testing of the Ricardian Model ?
How can intra industry trade measured ? What are the shortcomings of such a measure ?

Discuss how the opportunity cost theory of international trade removes the shortcomings of the
classical theory of international trade.

(8 x 5 = 40 marks)
Part D (Essay Type Questions)

Answer any two questions.
Each question carries 10 marks (31-34).

What are the salient features of the IMF system under the Bretton woods ? What were the factors
responsible for its breakdown ?

Discuss the features of product cycle model. How do technology differences affect the international
trade between developed and underdeveloped economies ?

Examine the case for and against of fixed and flexible exchange rate system.
Examine how ‘factor intensity reversal’ invalidates the Heckscher-Ohlin theorem.

(2 x 10 = 20 marks)
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Part A

Answer all questions.
Each question carries 1 mark.

Multiple Choice Questions :
1. FRBM act was enacted on :
(a) 2000. (b) 2001.
(c) 2002. (d) 2003.

2. Aservice in which a tendency to a local monopoly necessitates, the intervention of a public authority
to defend the interest of the consumer is known as :

(a) Public utility. (b) Private sector.
(¢) Tax. (d) Public revenue.
3. The expansionary effect of a balanced budget is known as :
(a) Unbalanced budget multiplier.
(b) Balanced budget multiplier.
(¢) Programme budgeting.
(d) Zero based budgeting.
4. Who among the economist introduced the concept of merit good ?
(a) Musgrave. (b) A.P.Lerner.
(c) J.M. Keynes. (d) A.C.Pigou.

5. Pollution emitted by a factory that muddies the surrounding environment and effects the health
of nearby residents is an example of :

(a) Positive externality. (b) Negative externality..

(c) Public debt. (d) Public good.
Turn over
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When supply is more elastic than demand, the tax burden falls on :
(a) Sellers. (b) Buyers.
(¢) Government. (d) Foreign government.
India introduced VAT in the year :
(a) 1980. (b) 1886.
(c) 2005. (d) 1986.
MNREGA was launched in the year :
(a) 2000. (b) 2006.
(c) 2003. (d) 2008.
Tiebout hypothesis was introduced in the year :
(a) 1950. (b) 1956.
(c) 1966. (d) 1965.
Diffusion theory was propounded by :
(a) A.C.Pigou. (b) - N.F. Canard.

(c) Seligman. (d) Edgeworth.

C 3852

(10 x 1 = 10 marks)

Part B (Very short answer questions)

Answer any five questions.
Each question carries 2 marks.
Answer in one or two sentences each.

What do you mean by club good ?

What do you mean by Pigouvian tax ?

What do you mean by federalsim ?

What do you mean by internal and external debt burden ?

Examine the basic reasons for increasing public expenditure under welfare state.
What do you mean by debt sustainability ?

What do you mean by public expenditure ?

Examine the Coase theorem.

(5 x 2 = 10 marks)
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Part C (Short Answer Questions)

Answer any eight questions.

Each question carries 5 marks.
Examine the pure theories of taxation.
Explain the process of pricing of public utilities.
Examine the changing centre-state relations during reform period in India.
What do you mean by stabilisation and allocation function ?
Briefly explain tiebout model.
Explain the importance of GST in Indian tax system.
What do you mean by subsidy ? Explain different types of subsidies.
Explain median voter theorem.
Describe the various sources of revenue of state government under Indian constitution.
Review the major recommendations of fourteenth finance commission in India.
Examine the macro economic impacts of debt burden in national economy.
Evaluate the effectiveness and performance of centrally sponsored schemes in India.

(8 x 5 = 40 marks)

Part D (Essay Type Questions)

Answer any two questions.

Each question carries 10 marks .
Examine first generation theory in fiscal federalsim.
Explain the factors that influence the incidence and shifting of taxation.
Examine the trends in public expenditure in India.

Briefly examine public choice theory.

(2 x 10 = 20 marks)
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Answer all questions.

Each question carries 1 mark.

Multiple Choice questions :

1.

Utility means ‘happiness’ and is a sense of ‘desired fulfillment’ is a criticism against Pareto-optimality

by
a) Kaldor. b)
c) Pigou. d)
General equilibrium model was developed by
. a) Walras. b)
c¢) Pasinetti. d)

LPP was developed by
a) Dantzig. b)
¢) Hicks. d)

Hicks.

None.

Kaldor.

None.

Kaldor.

None.

In market, to convey the information about product is called

a) Market signaling. b)

¢) Adverse selection. d)
Theory of second best developed by

a) Lancaster. b)

¢) Pigou. d)

Moral hazard.

None.

Pareto.

None.

Turn over
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Dual of the dual is
a) Primal. b) Surplus.
c) Slack. d) None.
Input-output analysis was developed by
a) Dantzig. b) Leontief.
¢) Kaldor. d) None.

The concept of social optimum was introduced by

a) Pigou. b) Marshall.

c) Arrow. d) None.
‘Economic Theory and Operations Analysis’ is authored by

a) Baumol. b) Smith.

¢) Kaldor. d) None.
Social weifare function was developed by

a) Bergson. b) Marshall.

¢) Samuelsson. d) Both a) and b).

C 83292

(10 x 1 = 10 marks)

Part B (Very Short Answer Questions)

Answer any five questions.
Each question carries 2 marks.
Answer in one or two sentences each.

Search cost.

Market signalling.
Principal agent problem.
Grant utility frontier.
Market failure.

Features cf public goods.
Walras law.

Euler’s theorem.

(5 x 2 = 10 marks)
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23.
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30.
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Part C (Short Answer Questions)

Answer any eight questions.
Each question carries 5 marks.

Explain economic interpretation of dual.

Explain market for lemons.

Explain efficiency wage theory.

Explain Kaldor-Hicks compensation criteria.

Explain Walrasian general equilibrium.

Discuss Kaldor theory of distribution.

Differentiate closed and open input-output model.

Explain the features of linear programming problem.

Explain the mathematical formulation of transportation problem.
Explain Williamson model of transaction cost.

Solve the following linear programming problem by using graphical method.
Maximize Z = 80x1 + 120x2

subject to x; + x5 <9
x 22
X9 23
20x; +50x, <360
x1,%9 2 0.

Find the initial feasible solution to the transportation problem by using north west corner rule :

Destination
Origins D, D, D, Supply
0, 2 7 4 5
0, 3 3 1 8
0, 5 4 7 7
0, 1 6 2 14
Demand 7 9 18

(8 x 5 = 40 marks)

Turn over
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Part D (Essay Type Questions)

Answer any two questions.
Each question carries 10 marks.

Discuss the application of input-output analysis.
Explain Ricardian theory of distribution.
Explain Pareto-optimality.

Solve the following linear programming problem by using simplex method :
Maximize Z = 6x, +4x,

subject to 2x; + x5 <2
x] —x9 <2
3x1 + 2.1'»2 <9

X1,Xo >0.

(2 x 10 = 20 marks)
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Part A

Answer all questions.
Each question carries 1 mark.
Multiple Choice Questions.

1. A primary reason why nations conduct international trade is because :
(a) Some nations prefer to produce one thing while others produce another.
(b) Resources are not equally distributed to all trading nations.
(c) Trade enhances opportunities to accumulate profits.
(d) Investment opportunities are notidentical in all trading nations.
2. The Heckscher-Ohlin theory explains comparative advantage as the result of differences in :
(a) Economies of large-scale production.
(b) Relative abundance of various resources.
(c) Relative costs of labor.
(d) Research and development expenditures.
3. The concept of opportunity cost was developed by :
(a) Adam Smith. (b) Ricardo.
(¢) J.S.Mill (d) Haberler.
4. The supply curve of foreign currency tends to be :
(a) Upward sloping. (b) Downward sloping.
(c) Vertical. (d) All the Above.

Turn over
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Differences in environmental standards or other government regulations among nations :

(a) Have no impact on patterns of international trade.

(b) Have tended to make U. S. steel companies more competitive internationally.

(c) Can affect production costs and thus alter comparative advantages and trade patterns.

(d) Have been eliminated by the nations participating in NAFTA.

The reduction or covering of foreign exchange risk is called :
(a) Hedging. (b) Speculation.

(c) Intervention. (d) Arbitrage.

In oligopolistic intra-industry model, the number of firms in the manufacturing sector is supposed

to be :
(a) Very large. (b) Small.
(¢) Medium. (d) Large.

The theory of Customs Union issue was developed by :
(a) Hans Singer. (b) Jacob Viner.
(c) Leontief. (d) J. Bhagawati.
Generalized System of Preferences were advocated by :
(a) GATT. (b) UNCTAD.
(c) OPEC. (d) WTO.
The tariff that maximises a country’s welfare is :
(a) ~Prohibitive tariff. (b) Optimum tariff.

(c) Protective tariff. (d) Effective tariff.

(10 x 1 = 10 marks)
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